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439269 7, 6,5 3 0,515 orale mi scriva
445650 6,25 6 2,5 2,5|15 orale mi scriva
446637 8,5 5,5 4 0[16 ORALE mi scriva
448584 5,5 2,5 2 4{INSUFFICIENTE
449572 5,5 4.5 4 6|INSUFFICIENTE
454528 5,5 6 2 2,5|INSUFFICIENTE
456172 5,5 6 0,5 2|INSUFFICIENTE
459174 7,25 6,5 2 0|INSUFFICIENTE
460046 4,5 INSUFFICIENTE
460924 7,5 2,5 4 4{16 ORALE mi scriva
466494 4,5 INSUFFICIENTE
466517 9,25 5,5 7,5 8 26
466673 5, INSUFFICIENTE
468820 7,25 6,5 4.5 5 20
468950 4,5 INSUFFICIENTE
469127 10,25 7 4 2,5 20
469370 6, 0,5 2 0|INSUFFICIENTE
470137 8, 3,5 2 4,5[16 ORALE mi scriva
470215 4,5 INSUFFICIENTE
470245 4,75 INSUFFICIENTE
470389 6, 4 4.5 4.,5|16 ORALE mi scriva
470592 4, INSUFFICIENTE
470652 3,5 INSUFFICIENTE
470695 9, 7 4 4 21
470699 3,75 INSUFFICIENTE
471010 8,25 7 0 0,5/ INSUFFICIENTE
471328 8,75 7,5 3,5 4,5 21
471523 8, 5 4 4,5 19
471784 4,75 INSUFFICIENTE
471864 2,75 INSUFFICIENTE
471903 9, 7,5 0,5 4 18
471964 9,5 4.5 4 4 19
472722 0, INSUFFICIENTE
472725 7,25 6,5 2 4117 orale mi scriva
472799 3,75 INSUFFICIENTE
473272 3, INSUFFICIENTE
473595 4,75 INSUFFICIENTE
474214 7,5 5,5 2,5 3116 ORALE mi scriva
474533 8,25 6,5 0 0|INSUFFICIENTE
477631 5,25 INSUFFICIENTE
477685 9,75 7,5 1 6 21
477848 11,25 7 2,5 4.5 22
477936 8, 6 2 5 18
478294 4,25 INSUFFICIENTE
478322 7,5 3 0 0,5|INSUFFICIENTE
478378 5,25 INSUFFICIENTE
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478530 9,5 4 8 4 22
478553 5, INSUFFICIENTE

478998 3, INSUFFICIENTE

479294 3, INSUFFICIENTE

479314 10,75 6,5 8 6[sarbbe 27 orale o 26 mi scriva
479318 9, 8 8 8|sarebbe 28 orale o 26 mi scriva
479330 9, 5,5 2,5 0|15 orale mi scriva

479336 10,75 3 2 6 19
479364 8,5 5,5 0 8 19
479398 8,75 5,5 2 3,5|17 orale mi scriva

479399 6,25 6,5 4,5 8 22
479409 8,5 5,5 45 1|17 orale mi scriva

479410 4, INSUFFICIENTE

479416 6,75 3,5 2 8|17 orale mi scriva

479425 4,75 INSUFFICIENTE

479476 4,75 INSUFFICIENTE

479502 12, 4 8 8|sarebbe 28 orale o 26 mi scriva
479509 11,25 8 7,75 8|sarebbe 30 26 o orale mi scriva
479563 9,75 6,5 4 8 24
479591 0, 7,5 0,5 1[INSUFFICIENTE

479614 10, 1,5 7,5 4.5 20
479615 5, INSUFFICIENTE

479675 0, INSUFFICIENTE

479686 6,5 2,5 0 6|INSUFFICIENTE

479707 8,75 7 2 6 20
479735 8,75 7 2,5 4 19
479746 7,5 7 1,5 6 19
480250 2,25 INSUFFICIENTE

481260 5,75 5 2,5 2|INSUFFICIENTE

481275 10,75 5 6 5,5 23
481322 0, 8 4.5 6 21
481335 2,25 INSUFFICIENTE

481346 11, 7 3 4 22
481349 10, 8 2,5 6 23
481351 6,25 4 0 0|INSUFFICIENTE

481354 0, INSUFFICIENTE

481366 4,5 INSUFFICIENTE

481368 0, 6,5 1 2,5|INSUFFICIENTE

481372 0,75 INSUFFICIENTE

481410 12, 6 2,5 4,5 22
481413 7,25 6 4 2,5[17 orale mi scriva

481434 9, 7 4 6 22
481440 12, 7 8 6 |sarebbe 28 orale o 26 mi scriva
481460 5, INSUFFICIENTE

481461 9,75 6,5 4,5 8 25
481463 2,5 INSUFFICIENTE

481482 2, INSUFFICIENTE

481490 4.5 INSUFFICIENTE

481497 10, 8 5 7 26
481505 10, 8 8 8|sarebbe 29 orale 0 26 mi scriva
481519 7, 8 2 0,515 orale mi scriva

481537 6, 4.5 4.5 8 20
481563 7,5 4 5,5 4 18
481579 7,25 7,5 6 8 25
481599 8,75 1,5 2 1/INSUFFICIENTE

481600 6,25 4.5 5 2|15 orale mi scriva
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481612 7, 6 2 2|15 orale mi scriva

481676 6, 4 4 4{16 ORALE mi scriva

481692 1,5 INSUFFICIENTE

481876 11, 7 7 7 |sarebbe 28 orale o 26 mi scriva

482111 9,25 7,5 0 5,5 19

482647 5,5 6 0 6|INSUFFICIENTE

482673 5,25 INSUFFICIENTE

482693 2,25 INSUFFICIENTE

482731 10, 6 3,5 7,5 23

482803 7,25 7,5 45 0,5]17 orale mi scriva

483059 3,75 INSUFFICIENTE

483162 3, INSUFFICIENTE

483307 7,25 5 4 1[15 orale mi scriva

484602 12, 6.5 4,5 6 19

485795 0, INSUFFICIENTE

486182 7,75 7 6 7 24
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